mMENRSC

yvour free time on the move

SHADOW

Made in Italy

Istruzioni di montaggio
Fitting instructions
Montageanleitung
Instructions de montage
Instrucciones de montaje
Navod na montaz
Monteringsvejledning
0bnyieg ouvappohdynong
Paigaldusjuhend
Asennusohje

Uputa za sastavljanje

A felszerelés madja
Stiprinasanas instrukcija

Lv
NL
NO
PL

RO
RU
SK
SL

sV
TK
ZH
AR

Pritvirtinimo instrukcijos
Instrukcja montazu
Monteringsveiledning
Instrukcja montazu
Instrucdes de Montagem
Instructiuni de montare
WMHCTpYKLMM NO yCTaHOBKe
Navod na montaz
MNavodila za pritrjevanje
Monteringsanvisning
Uydurma talimat
ey

Juasadll Silsuled

® &



Componeati [lndi) Bicarnbs (A Richbesta)
Spare Parts [Made to cader)
N Q N A g | TR
2 1 | 700030000000
1 1 3 1 | 700030100000
4 1 FO0030200000
2 1
3 | 1 6 2 | 700027100000
7 1
4 1 =
700027900000
5 | = - !
6 |
9 1 | 700003200000
7 3
4 g 10 1 | 700003100000
3 1 r 1 | 700006900000
10 1 12 1 | 700030300000
13 &
11 1 14 4
={) M8x20 2 |
15 . 700030400000
=0 M6x20 &l
L 2 1] e & 6x12 6
13 | 6 17 0= m6x45 6 |
14 | 4 18 | ZD6x55mm/03x21" | 2 | 700015700000
i | =0 M8x20 | 2 19 = \| 5mm / 0.2" 1 | 700025000000
| =0 M6x20 2 20 1 | 700001100000
17 | 0= Mexas 6
18 | D exs5mm/03x21" | 2 21 1| 700010900000
19 = ;:l Smm / 0.2" 1
20 | =L ,50m /821 | ]
21 @ 4
A0







2
2

= M8x20

=0 M6x20

= M8x20

OR
S =0 M6x20

/

o>
" e

\

1

Fa— dx










MIN @30 mm / 1.2"
MAX @50 mm / 2°

MIN 30x30 mm / 1.2x1.27
MAX 50x70 mm / 2x2.7"

T

MIN 227

MAX 29°

‘}'_n
Fh[Fﬁmx 110mm / 43" Gﬂ)

MAX 114cm /45"




MIN @30 mm / 1.2"

=
MAX @50 mm / 2° 2

€. 1%
MIN 30x30 mm / 1.2x1.2" .

MAX F0x70 mm [ 227

MIN 227
MAX 29°

I
—
| 210
Il MAX 110mm / 4.3 i
] T
- MAX 114crm / 45°




1

=
20 i

N,
b, 8

Ky m AN f.wr. o A -
VAT, P A N i
4 /i i ...;__...’r....,p 5

[
. ...w..ru.....#.w} —
‘....... e .....hf.,.‘._.,ﬂ.._ Z

.\h-...fﬂm
<X Tl

7 vﬁw_._ﬁ?

el W
e L




Shadow MAX 15kg /331b | MAX 22.5kg
13,30 kg /29.3lb | MAX 45kg/991b | MAX 45 kg







Creato da | Appr.

Data

LCod.Istr.

S000222MK00G] 0512/2018 | WP

Flli Menabé Sl

Via 8 Marzo, 3

| - 42025 Cavriago (RE)

Tel. +39-0522/942840

Fax. +39-0522/942948
e-mail: info@flli-menabe.it
Web-site: www.fili-menabo.it



